

REPÀS SUMA DE FRACCIONS

Calcula les següents sumes de fraccions. (No cal simplificar el resultat)

$\frac{6}{5} + \frac{3}{10} = \text{---} + \text{---} = \text{---}$ $\text{mcm}(5, 10) =$	$\frac{1}{2} + \frac{4}{6} = \text{---} + \text{---} = \text{---}$ $\text{mcm}(2, 6) =$
$\frac{3}{7} + \frac{1}{2} = \text{---} + \text{---} = \text{---}$ $\text{mcm}(2, 7) =$	$\frac{4}{3} + \frac{5}{4} = \text{---} + \text{---} = \text{---}$ $\text{mcm}(3, 4) =$
$\frac{1}{9} + \frac{5}{3} = \text{---} + \text{---} = \text{---}$ $\text{mcm}(3, 9) =$	$\frac{3}{10} + \frac{5}{4} = \text{---} + \text{---} = \text{---}$ $\text{mcm}(10, 4) =$
$\frac{3}{2} + \frac{6}{8} = \text{---} + \text{---} = \text{---}$ $\text{mcm}(2, 8) =$	$\frac{4}{3} + \frac{7}{6} = \text{---} + \text{---} = \text{---}$ $\text{mcm}(3, 6) =$
$\frac{4}{18} + \frac{5}{9} = \text{---} + \text{---} = \text{---}$ $\text{mcm}(9, 18) =$	$\frac{1}{5} + \frac{2}{3} = \text{---} + \text{---} = \text{---}$ $\text{mcm}(3, 5) =$